Professional hardware manufacturer

Guangdong Goodich Hardware Co.ltd

Stronger | Faster | Better 1 Cheaper

A
Goodich




CONTENTS

03 Company Profile 04 Industrial Caster

1 § Furniture Wheel Z;I Medical Wheel

02



COMPANY
INTRODUCTION

Welcome to our company profile! We are a
caster wheel company established in 2016,
focusing on the production of casters and slide
rails, with a factoryof 8000 square meters

and nearly 100 employees.

Our company has a professional R&D team
and a high-quality production team, committed
to providing customers with high-quality, high
-performance casters. Our products are widely
used in furniture, office equipment, medical
equipment, logistics equipment and other
industries.

We always adhere to customer needs as the guide,
and constantly optimizeand innovate products to
meet the needs of customers in different fields
different sizes, and different requirements. Our
product quality has been recognized and trusted
by our customers, and we have become a partnerof
well-known brands at home and abroad.




Caster Combination

HRREE

MIAREAE

Surface Coating

Fp B 30 44 T b B 48

Medium Duty Double Ball Bearing industry Caster

= =
- - NO. T & & [Sh
Fi woa me A W WS ool mmm i RS PRE RER
& M03-F23Z-PBO1-6001 PP 75(3") 33 105 36 93x62 72X45 85! 80
. M04-F23Z-PBO1-6001 PP 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-F23Z-PBO1-6001 PP 125(5") 33 158 345 93X62 72X45 8.5 110
el 8§ & & [}
" e e Iy
L‘ M03-FS23Z-PBO1-6001 PP 75(3") 33 105 36 93x62 72X45 8.5 80
M04-FS23Z-PBO1-6001 PP 100(4") 33 130 35 93X62 72X45 8.5 100
M05-FS23Z-PB0O1-6001 PP 125(5") 33 158 345 93X62 72X45 8.5 110
NO. 5 & & W1 & © |
Model 1% B lm  TE e SRR WAFEGw WBRTw AR e KRGS
M03-FDB23Z-PBO1-6001 PP 75(3") 33 105 36 93x62  72X45 8.5 80
M04-FDB23Z-PBO1-6001 PP 100(4") 33 130 35 93X62 72X45 8.5 100
M05-FDB23Z-PBO1-6001 PP 125(5") 33 158 345 93X62 72X45 8.5 110
| NO. § @ & X
.'{ | i Model 1% YeEEE e e BN ) DumMGR  Watmew  HWeies R o
'(. M03-LS23Z-PBO1-6001-M12*30 PP 75(3"%) 33 105 36 M12x30 80
MO04-LS23Z-PBO1-6001-M12*30 PP 100(4") 33 130 35 M12x30 100
M05-LS23Z-PBO1-6001-M12*30 PP 125(5") 33 158 345 M12x30 110
| NO. § 9 & x
. R BEE W SO W MR e
M03-LDB23Z-PBO1-6001-M12*30 PP 75(3") 33 105 36 M12x30 80
J M04-LDB23Z-PBO1-6001-M12*30 PP 100(4") 33 130 35 M12x30 100
MO05-LDB23Z-PB0O1-6001-M12*30 PP 125(5") 33 158 345 M12x30 110




BREE

Caster Combination

FIRELE

Surface Coating

A2 R & 4 W 4 AN 42

Mid/Light Duty Double Ball Bearing Caster

NO. ] I (@]
NO. g & & (0} &
wo meVEURRRE WS SO RNAM MND TR PR X
J015-F12E-PVB019-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 60
y J02-F18E-PVB0O19-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 70
J025-F23E-PVB019-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 80
NO. 8 4 & (G o)
a Wheel Dia  Wheel Width ~ OverallHeight  Swivel Radius Plate Size  Hole Spacing Hole Size Inld&pxib{
Model % % 8 (am) X (en) LA (nm)  HEHER (nm) RO (am) AL ¥ (nm) A B(am) & K (kg
J015-FS12E-PVB0O19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 60
J02-FS18E-PVB019-608 PVC 50(2") 25 q2 20 70X51 52X35 8.5 70
J025-FS23E-PVB019-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 80
NO. ] =5 S ot .
NO. § & & O of &
wor my RV R RS RO WNEN N WO RRD R
J015-FDB12E-PVB019-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 60
J02-FDB18E-PVB019-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 70
J025-FDB23E-PVB019-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 80
NO. ® g ¢ & x
Model ¥ § REMM ®£#& (nn) ®X (om) GHAE (nm) HEER (mm) HFR T (um) & K (kg)
J015-LS12E-PVB0O19-608-M8*25 PVC 40(1.5") 21 62 20.5 M8/10x10/15 60
J02-LS18E-PVB0O19-608-M8*25 PVC 50(2") 25 72 20 M10x10/20/30 70
J025-LS23E-PVB0O19-6001-M12*30 PVC 63(2.5") 32 92 35 M12/16x30 80
NO /8 i g .
‘Wheel Material Wheel Dia ‘Wheel Width ‘Overall Height Swivel Radius Threaded Size Load
Model 5 RFMH ®8 (nm) ®X (o) CHAE (mm) HEHER (um) R (nm) & W (kg;
J015-LDB12E-PVB0O19-608-M8*25 PVC 40(1.5") 21 62 20.5 M8/10x10/15 60
J02-LDB18E-PVB0O19-608-M8*25 PVC 50(2") 25 72 20 M10x10/20/30 70
J025-LDB23E-PVB019-6001-M12*30 PVC 63(2.5") 32 92 35 M12/16x30 80




BRREE

Caster Combination

2 RIPVCHI 48

Light Duty PVC Caster

NO. § & & fcr [of
—p P SEAE W MUm TR OND YT
L015-F12Z-PVS12-MD PVC 38(1.5") 17 50 16 45X38 38X27 5 20
L02-F12Z-PVS12-MD PVC 50(2") 22 65.5 19 58X46 45X34 6 35
L025-F12Z-PVS12-MD PVC 63(2.5") 25 80 24 70X58 55x42 8 45
L03-F12Z-PVS12-MD PVC 75(3") 25 99 30 70X58 55X42 8 50
- e
NO. § & & [ (&
R
L015-FS12Z-PVS12-MD PVC 38(1.5") 17 50 16 45X38 38X27 5 20
L02-FS15Z-PVS12-MD PVC 50(2") 22 65.5 19 58X46 45X34 6 35
L025-FS18Z-PVS12-MD PVC 63(2.5") 25 80 24 70X58 55X42 8 45
L03-FS18Z-PVS12-MD PVC 75(3") 25 99 30 70X58 55X42 8 50
12 § & & fohr (o}
o 29 I e B
L015-FDB12Z-PVS12-MD PVC 38(1.5") 17 50 16 45X38 38X27 ] 20
L02-FDB15Z-PVS12-MD PVC 50(2") 22 65.5 19 58X46 45X34 6 35
L025-FDB18Z-PVS12-MD PVC 63(2.5") 25 80 24 70X58 55X42 8 45
L03-FDB18Z-PVS12-MD PVC 75(3") 25 99 30 70X58 55X42 8 50
NO. ©) g @ & A
o 59 e GEES W OSERW W WS YT
L015-LS12Z-PVS12-MD-M8*25 PVC 38(1.5") 17 51 16 M8X25 20
L02-LS15Z-PVS12-MD-M8*25 PVC 50(2) 22 65 19 M8X25 35
L025-LS18Z-PVS12-MD-M12*30 PVC 63(2.5") 25 80 24 M8X25 40
L03-LS18Z-PVS12-6001-M12*30 PVC 75(3") 25 99 30 M8X25 50
NO. g 9 & X
o 19 e LRSS WM SRR W WS 3T
L015-LDB12Z-PVS12-MD-M8*25 PVC 38(1.5") b 51 16 M8X25 20
L02-LDB15Z-PVS12-MD-M8*25 PVC 50(2") 22 65 19 M8X25 35
L025-LDB18Z-PVS12-MD-M12*30 PVC 63(2.5") 25 80 24 M8X25 40
L03-LDB18Z-PVS12-MD-M12*30 PVC 75(3") 25 99 30 M8X25 50




ZRIPPHI%

Light Duty PP Caster

Surface Coating

e § 4 & )
- WeelMaial  Wheel Dis  WhedWidth  Ownllueoht  Swheltodus  rlate Size  Helespecng  Hole Sizs  LosdCapaky
Model 25 REHE BB (n)  RE (m) LR (m) PR (o) () AL (um) AL B(em) K K (ke
L015-F12Z-P1-MD PP 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F12Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-F12Z-P1-MD PP 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-F12Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50
e e ! =
NO. § & & [ (&
. WheelMaterial ~ Wheel Dia ~ Wheel Width  OverallHeight  SwivelRadius  Plate Size  Hole Spacin Hole Size
Model X8 RAHA ()  RE () TR SER W  RERT(w) AR (e 7L e
L015-FS12Z-P1-MD PP 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F$15Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FS18Z-P1-MD L 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-FS18Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50
12 § &# & for [of
Wheel Material Wheel Dia Wheel Width  Overall Height  Swivel Radlus Plate Size Hole Spacing Hole Size Load Capaci
Model # 5 REHE #& (mm) RE (om)  EWE (o)  HEER (mm) KBRS (om)  FL B (am) A #(am) & i (k:g
L015-FDB12Z-P1-MD PP 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-FDB15Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FDB18Z-P1-MD BB 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-FDB18Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50
R 0B
NO. © § ¢ & 4 @&
Wheel Material Wheel Dia Wheel Width Overall Height ‘Swivel Radlus Threaded Size Inldb»d%
Model %5 ®FH B #4% (am) KX (an) ST (mm) HEPER (nm) HHR S (am) & I (ke
L015-LS12Z-P1-MD-M8*25 PP 38(1.5") 17 50 16 M8X25 20
L02-LS15Z-P1-MD-M8*25 PP 50(2") 22 65.5 19 M8X25 35
L025-LS18Z-P1-MD-M12*30 PP 63(2.5") 25 80 24 M12X30 40
L03-LS18Z-P1-MD-M12*30 PP 75(3") 25 99 30 M12X30 50
NO. § @ & X
N WheelMaterial  Wheel Dia WhelWdth  ovelvosht  sbeltadus  Thiesded Size  LosdCavaty
Model 1% ®FHE 14 (un) A (an) U (on) R (on) KR (nm) & i (kg
L015-LDB12Z-P1-MD-M8*25 PP 38(1.5") 17 50 16 M8X25 20
L02-LDB15Z-P1-MD-M8*25 PP 50(2") 22 65.5 19 M8X25 35
L025-LDB18Z-P1-MD-M12*30 PP 63(2.5") 25 80 24 M12X30 40

L03-LDB18Z-P1-MD-M12*30 PP 75(3") 25 99 30 M12X30 50




BRI R

Light Duty Soft/Hard Rubber Caster

BREE SREALE

Caster Combination Surface Coating

NO. § & & (o}
L015-F12Z-R9-MD SR/HR 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F12Z-R9-MD SR/HR 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-F12Z-R9-MD SR/HR 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-F12Z-R9-MD SR/HR 75(3") 25 99 30 70X58 55X42 8.4 50

— —
NO. § & & [ (&
TS| e ms VM Weloh e opes pemen geinm SRR R e |
L015-FS12Z-R9-MD SR/HR 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-FS15Z-R9-MD SR/HR 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FS18Z-R9-MD SR/HR 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-FS18Z-R9-MD SR/HR 75(3") 25 99 30 70X58 55X42 8.4 50

NO. g & &

woas my VYR WS RS SHENS GNAM TR A TR
L015-FDB12Z-R9-MD SR/HR 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-FDB15Z-R9-MD SR/HR 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FDB18Z-R9-MD SR/HR 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-FDB18Z-R9-MD SR/HR 75(3") 25 99 30 70X58 55X42 8.4 50

NO. ® § ¢ & A

oas 59 R WRRS W SR G WS Y
L015-LS12Z-R9-MD-M8*25 SR/HR 38(1.5") 17 50 16 M8X25 20
L02-LS15Z-R9-MD-M8*25 SR/HR 50(2") 22 65.5 19 M8X25 35
L025-LS18Z-R9-MD-M12*30 SR/HR 63(2.5") 25 80 24 M12X30 40
L03-LS18Z-R9-MD-M12*30 SR/HR 75(3") 25 99 30 M12X30 50

NO. 8 @ & X

o 59 RO W GmMe G M YE
L015-LDB12Z-R9-MD-M8*25 SR/HR 38(1.5") 17 50 16 M8X25 20
L02-LDB15Z-R9-MD-M8*25 SR/HR 50(2") 22 65.5 19 M8Xx25 35
L025-LDB18Z-R9-MD-M12*30 SR/HR 63(2.5") 25 80 24 M12X30 40

L03-LDB18Z-R9-MD-M12*30 SR/HR 75(3") 25 99 30 M12X30 50




rp BY 30 4 8 1E B 42

m Duty Double Ball Bearing Caster

BRREER
[ PveoHs|

Caster Combination PVBOH94 PVBOH9 PVBOH19 PVBOH1 PVBOHS88

(‘- -nsm

FRREALE

Surface Coating

_ NO. § & & (o

B | o ns Wems g omueer e g wome s gme
MO03-F23Z-PVBOH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80
MO04-F23Z-PVBOH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
M05-F23Z-PVOBH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

) , NO. § & & B G
- R DSy TP ey g g ey e o
MO03-FS23Z-PVOBH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80
MO04-FS23Z-PVOBH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-FS23Z-PVOBH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

NO. § & & I B ©

e e ws TR TS W G WD AN TRD RS YR
\ M03-FDB23Z-PVOBH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80
v MO04-FDB23Z-PVOBH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-FDB23Z-PVOBH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

NO. ® g g & &

—_— H Wheel Dia Wheel Width Overall Helght SwivelRadius  Threaded Size  LoadCa
; Model 5 ®FH R e (an) R (an) A (on) Wb (n) AR (om) & M (kg
M03-LS23Z-PVOBH94-6001-M12*30 PVC 75(3") 33 105 36 M12x30 80
M04-LS23Z-PVOBH94-6001-M12*30 PVC 100(4") 33 130 35 M12x30 100

M05-LS23Z-PVOBH94-6001-M12*30 PVC 125(5") 33 158 345 M12x30 110
1 NO. 5 a1 & &

= woast 19 I I W
%' Kﬂkﬁ M03-LDB23Z-PVOBH94-6001-M12*30 PVC 75(3") 33 105 36 M12x30 80
v M04-LDB23Z-PVOBH94-6001-M12*30 PVC 100(4") 33 130 35 M12x30 100
MO05-LDB23Z-PVOBH94-6001-M12*30 PVC 125(5") 33 158 345 M12x30 110




I 40 BE A FE B 42

Double Ball Bearing Transparent Caster

PR

Caster Combination
3 i i i
L ‘

HRRELIE 5 3 , g y &

Surface Coating { @ ¢ ¢
! 5 @ -
NO. § @ & X &
H Wheel Material Wheel Dia WheelWidth  OvendllHeight  SwhvelRadius  Threaded Size  Load Capaci
i Model 1% R W (o) TR (o GwmmGw  Howeew  EARem K R0
T025-L5232-CU80-6001-M1230  PU+PC 65(2.5") 24 82 25 M12x30 45
B9 Tos-isem-cuse conimizn PU+PC 75(3") 24 95 30 M12x30 50

p MO 7@l 0@
NO. g Al ©
~ " Wheel Material Wheel Dia Wheel Width Overall Height ‘Swivel Radius Threaded Size Load Capaci
Model % § RFMHA ®& (um) ®E (o) LA (mm) R (am) EHR (nm) * K lkB
T025-LDB23Z-CU90-6001-M12*30 PU+PC 65(2.5") 24 82 25 M12x30 45
T03-LDB23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M12x30 50

-

NO.

§ @ & M

sl 48 WS WSS EREED SR YR
T025-PS23Z-CU90-6001-M12*30 PU+PC 65(2.5") 24 82 25 M12x30 45
T03-PS23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M12x30 50

NO.

T @ & M

. Wheel Material Wheel Dia Wheel Width Overall Height Swivel Radius Ring Stem Load Cay
Model %5 ®FHR ®F (an) RU (um) LA (nm) PR (am) FHRRS (mn) & K (ke:
T025-PDB23Z-CU90-6001-M12*30 PU+PC 65(2.5") 24 82 25 M12x30 45

T03-PDB23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M12x30 50




BRRERL

Caster Combination

|/

MRRELE

Surface Coating

iR B 2 B 4t

Mid/Light Duty Gray Rubber Caster

)

NO. § & &
i Model %1 W TR e RRAN ) WOVBem BRSOk kR
G02-F23Z-PVAF88-MG PVC 50(2") 17 68 20 65X47 53X33 6.5 35

f z G03-F23Z-PVAF88-MG PVC 75(3") 22 99 30 100X58 81X40 8.5 50
G04-F23Z-PVAF88-MG PVC 100(4") 27 129 32 100X58 81X40 8.5 60

- —
NO. g & &
ST weems RS LS M oouel WM Sn CRES D XS
G02-FS23Z-PVAF88-MG  PVC 50(2") i/ 68 20 50X50 35X35 6.5 35
G03-FS23Z-PVAF88-MG  PVC 75(3") 22 99 30 65X65 49X49 8.5 50
G04-FS23Z-PVAF88-MG PVC 100(4") 27 129 32 76X76 57X57 8.5 60
NO. T & & fox [of
Model 5 o el S e e - ok S Y]

G02-FDB23Z-PVAF88-MG PVC 50(2") 17 68 20 50X50 35X35 6.5 35
GO03-FDB23Z-PVAF88-MG PVC 75(3") 22 99 30 65X65 49X49 8.5 50
G04-FDB23Z-PVAF88-MG PVC 100(4") 27 129 32 76X76 57X57 8.5 60

1 NO. ® § @ & &
S0y oas 1 O WESS G GhMs DM W e

\ G02-LS23Z-PVAF88-MG-M12*30  PVC 50(2") 17 68 20 M10x25 35

O, \ G03-LS23Z-PVAF88-MG-M12*30 PVC 75(3") 22 99 30 M12x30 50
G04-LS23Z-PVAF88-MG-M12*30 PVC 100(4") 27 129 32 M12x30 60

12 § @ & X

s 1 R WSS W G WM WS YT
G02-LDB23Z-PVAF88-MG-M12*30 PVC 50(2") 17 68 20 M10x25 35
G03-LDB23Z-PVAF88-MG-M12*30 PVC 75(3") 22 99 20 M12x30 50
G04-LDB23Z-PVAF88-MG-M12*30 PVC 100(4") 27 129 32 M12x30 60




BRER
Caster Combination
I/
HRRELE

Surface Coating

R B & SHPV CR 3¢

m Duty Single Ball Bearing pvc Caster

‘ ‘«.

009

NO. 5 4 &
MO03-F23Z-PVAOH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80
MO04-F23Z-PVAOH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-F23Z-PVABH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

NO. § & & & G

woas 19 Bl R S G SRR CRESOPMn YT
MO03-FS23Z-PVABH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80
MO04-FS23Z-PVABH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-FS23Z-PVABH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

NO. 5 & & (oX [of

wose Wy M Whesh wohwh omiesy L SSm RES RRD T
MO03-FDB23Z-PVABH94-6001 PVC 75(3") 33 105 36 93x62 72X45 8.5 80

MO04-FDB23Z-PVABH94-6001 PVC 100(4") 33 130 35 93X62 72X45 8.5 100
MO05-FDB23Z-PVABH94-6001 PVC 125(5") 33 158 345 93X62 72X45 8.5 110

NO. © f ¢ & A
MO03-LS23Z-PVABH94-6001-M12*30 PVC 75(3") 33 105 36 M12x30 80
M04-LS23Z-PVABH94-6001-M12*30 PVC 100(4") 33 130 35 M12x30 100
MO05-LS23Z-PVABH94-6001-M12*30 PVC 125(5") 33 158 345 M12x30 110

NO. 8 ¢ & &

ot 59 RS R SRR Wt WS YR
MO03-LDB23Z-PVABH94-6001-M12*30 PVC 75(3") 33 105 36 M12x30 80

& MO04-LDB23Z-PVABH94-6001-M12*30 PVC 100(4") 33 130 35 M12x30 100
MO05-LDB23Z-PVABH94-6001-M12*30 PVC 125(5") 33 158 345 M12x30 110




E AR5

Transpareant Caster

NO. @ & 54
—_
s | ” Wheel Dia  WheelWidth ~ OverallHeight ~ SwivelRadius  Plate Size  Hole Spacing Hole Size
e Model X3 REHB R (an)  RE (m)  HAE(n) HERGn)  RERTn) AL (m) AL ()
T015-F12Z-CU0-ZMD  PU+PC 38(1.5") 235 50 16.5 42X42  32X32 45 25
T02-F12Z-CU0-ZMD PU+PC 50(2") 21 64 18.5 42X42  32X32 4.5 35
T03-F12Z-CU0-ZMD PU+PC 75(3") 22 96.5 28 60X60 45X45 8.5 40
T04-F12Z-CU0-ZMD PU+PC 100(4") 27 125 32 60X60 45X45 8.5 50
NO. 5 @ & s
b,
WheelMatersl ~ Wheel Dia  Wheel Width OverallHelght  SwivelRadius  Plate Size  HoleSpacing  Hole Size
Model X & RFHR  RE (an)  RE () HNE(m)  HrER(am)  RERT(am) AL em) AL B(en)
T015-FS12Z2-CU0-ZMD  PU+PC 38(1.5") 235 50 16.5 42X42  32X32 4.5 30
T02-FS15Z-CU0-ZMD PU+PC  50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FS18Z-CU0-ZMD PU+PC  75(3") 22 96.5 28 60X60 45X45 8.5 45
T04-FS18Z-CU0-ZMD PU+PC  100(4") 27 125 32 60X60 45X45 8.5 50
NO. § & & I bt ©
o 19 BEY W S W e TEEOLHS YYD
T015-FDB12Z-CU0-ZMD PU+PC 38(1.5") 235 50 16.5 42X42 32X32 4.5 30
T02-FDB15Z-CU0-ZMD PU+PC 50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FDB18Z-CU0-ZMD PU+PC 75(3") 22 96.5 28 60X60 45X45 8.5 45
T04-FDB18Z-CU0-ZMD PU+PC 100(4") 27 125 32 60X60 45X45 8.5 50
' = -
NO. ©) § @ & &
Wheel Material Wheel Dia Wheel Width ‘Overall Height ‘Swivel Radius Threaded Size Load Capaci
Model 15 RFHE 15 (an) K (an) UL (on)  HAWER (o) KR (am) * R
T015-L812Z-CU0-ZMD-M8*25 PU+PC 38(1.5") 235 50 16.5 M8Xx25 30
T02-LS15Z-CU0-ZMD-M8*25 PU+PC 50(2") 21 64 18.5 mM8x25 35
T03-LS18Z-CU0-ZMD-M12*30 PU+PC 75(3") 22 96.5 28 M12X30 45
T04-LS18Z-CU0-ZMD-M12*30  PU+PC 100(4") 27 125 32 M12X30 50
NO. § ¢ & X
Wheel Material  Wheel Wheel Width ~ Overallbeight  SwivelRadius  Threaded Size  Load Capacit
Model X § R FH B 14 (an) R (an) U (an) SR (am) AR (am) W RS
T015-LDB12Z-CU0-ZMD-M8*25 PU+PC 38(1.5") 235 50 165 M8X25 30
T02-LDB15Z-CU0-ZMD-M8%25  PU+PC 50(2") 21 64 185 M8X25 35
T03-LDB18Z-CU0-ZMD-M12*30 PU+PC 75(3") 22 96.5 28 M12X30 a5

T04-LDB18Z-CU0-ZMD-M12*30 PU+PC 100(4") 27 125 32 M12X30 50




£
The diamond wheel

304 -EXEM 301 -BFERIE 301-DFEAMA

302-BAFHIZE 302 -D£HFAMA 303-BHEITHIZE 303 -DIEIT AR

e @ ® T @ B & e | B

The material wheeldia ~ Wheel width  lation height  Plate size Pitch The aperture specifications load
model MR ®iE BE REBE  RIRRY FLEE L& LEFFAUAS HE
(MM) (MM) (MM) (MM) (MMm) (MM) (MM) (KG)
WX-301-D40-01
WX-301-B40-01 825
WX-302-D40-01 10*25
WX-302-B40-01 3 * * *
WEREO| pyc | 15°40)| 22 68 | 6043 | 42°30 | 65 | 1030 | 35
WX-303-840-01 12*25
WX-304-E40-01 12*30
8"25
‘ 10*25
PVC | 2¢50) | 27 70 | 70%50 | 52*35 | 85 | 10*30 | 50
12*25
12*30

O sFEmR: mustdEtn O AMwigit IETRE



o SR

E_nvndlqgh )
g The diamond wheel

302 -D4FF A A 303-BIEHTHIE 303 -DIEFT A E

302-B£THIE

e © @ T W & e 1 B
load

Pitch The aperture specifications

The material wheeldia ~ Wheel width  lation height Plate size
model R e I REBE JEIRR kil 7= TG HE
(MM) (MM) (MM) (MM) (MM) (MM) (MM) (KG)
WX-306-D40-01
P by [ 1540)| 22 68 | 60%43| 4230 | 3 | 1260 | 35
WX-307-D40-01 c S ( O)
WX-307-B40-01
pPVC 2 4(50) 27 70 70*50 52*35 3 12*60 50

O #EmMR HwRAEn O AT HIEERE




902-BL£#TRIZE

S

model

The material

M

901 -BFEHZE

RE %
Gray irom

902 -D&£#F M

© ® T ¥

lation height

Wheel width
R
(MM)

wheel dia
BiE
(MM)

903 -BiEFTHIZE

il
0~=~0
Plate size

JERARR ST
(MM)

Gl
Pitch

FLEE
(MM)

REBE
(MM)

KON
(0) O]

903 -DiEFF A

The aperture specifications

FLE
MM)

LEATHAE
(MM)

=

load
HE
(KG)

WX-901-D50-01
WX-901-B50-01
WX-902-D50-01
WX-902-B50-01
WX-903-D50-01
WX-903-B50-01
WX-904-E50-01

PvC

250) | 17

72 50*50 | 35*35

10*25
10*30
12*25
12730

30

PvC

2.5(65) 21

90 65*65 | 4545

10*25
10”30
12*25
12*30

40

PVC

3475) | 21

101 65*65 | 45*45

10*25
10”30
12*25
12*30

50

PVC

44100) | 27

125 75*75 | 55*55

10*25
10*30
12*25
12*30

65

PvC

54125) | 27

150 75*75 | 55%55

10*25
10*30
12*25
12*30

75

O FEHRmEREn O AT HESRE




ZRTPREE
Lightweight TPR casters

(€]

1604 -EXE A 1601 -BFERIZE 1601 -D¥FEAMA 1602 -B££#HH|ZE 1602 -D££#F 5 )
— — O
| = o ~0 g o~ i
Gt ® T @ M i
The material ~wheel dia ~ Wheel width lation height  Plate size Pitch The aperture specifications load
model B B2 B REEE R Flis L& LT HE
(MM) (MM) (MM) (MM) (MMm) (MM) (MM) (KG)

WX-1601-D25-01
WX-1601-B25-01

LRI TPR 17(25) 13 38 39*33 | 30%24 4.2 6*15 15
WX-1602-B25-01

WX-1604-E25-01

TPR |1.257(32)] 13 45 39*33 | 30%24 4.2 615 18
TPR | 1.57(38) 17 52 46*38 | 36*28 52 8720 25
’ ’ 10*20

TPR 27(50) 17 65 46*38 | 36*28 52 &zl 30
10*20

O pEmR REtEtn O At HIEERE



s ERRAL

Goodich

el Nylon furniture wheel
1501 -BEJEF|ZE 1501 -D¥EAME 1502 -B£#FRIZE 1502 -D£# 5 )
I Il
1503 -BiEFFRIZE 1503 -DIEHT A ™
1| =2 50 0~ %
RS ® T © B & & U
The material ~ wheeldia ~ Wheel width lation height  Plate size Pitch The aperture specifications load
model 4B B BE REBE  KRRY FLEE &z LLFTHIE HE
(MM) (MM) (MM) (MM) (MMm) (MM) (MMm) (KG)

WX-1501-D25-01
WX-1501-B25-01
el B | 1725) | 32 45 30030 | 2722 | 5 | 815 | 10
WX-1503-D25-01
WX-1503-B25-01

e |1.257(32) 32 45 30*30 | 26*26 5 8*15 15
& | 1.57(40) 41 56 38*38 | 26*26 5 10*20 | 25
B | 27(50) 43 61 38*38 | 26*26 5 10*20 | 30

O sEmR mEREn O A HESRE



A

Goodich
—vﬁ' o

101 -BFERAZE

101 -DFEAME

@ @

EE2RAR
All black furniture wheel

$ ©

102 -B£#FHIZE

102 -DE#F A

103 -BIEFFRIZE 103 -DIEFF A 101 -BEAIZE 102 -DLFFFHHE
I = @ oy 60
ie= © T o] [l e €]
The material wheel dia Wheel width lation height Plate size Pitch The aperture specifications load
model ME B B RIS JRIRR T FLEE FL#E ZFTHING HE
(MM) (MM) (MM) (MM) (MM) (MM) (MM) (KG)
ETEEE] 8*20
102-D50-0 » * * *
sl pu | 27(50) 48 64 |38*38 | 26*26 5 igég 40
WX-103-D50-01 *
WX-103-B50-01 12 20
8*20
PU | 257(60)| 48 76 | 42742 | 32*32 5 ig*ég 55
12*20
8*20
PU | 37(75) 58 100 |[70*58 | 54*42 | 85 18*%8 65
12*20

O TR FEREN

O ANEET FESRTE




- TPE X%t

e TPE two-wheel

©O00®0®

601-BFERZE  601-DFEAMA 602 -BLATHIZE 602 -D£FFAME 603 -BiEFFRIZE 603 -DIEFHM

me © @ T @ @ & & | B

The material wheeldia ~ Wheel width ~ lation height  Plate size Pitch The aperture specifications load
model 4B B BE REEE  RRRY FLEE L& LTI HE
(MM) (MM) (MM) (MM) (MM) (MM) (MM) (KG)
WX-601-D50-01
WX-601-B50-01 8 *25
U IeR [2650) | 50 66 | 4242 | 3232 | 5 :llgig 60
WX-602-B50-01 12*25
WX-603-D50-01 12*30
WX-603-B50-01

O pEmR mRREn O AMKRITHEERE



REETRAR

medical double disc wheel

n

701 -BFERAZE T01-DFEARA 702 -BAFHZE 702 -D££FF AR

e © @ 7T W HE = 8 | B

The material ~wheeldia ~ Wheel width  lation height  Plate size Pitch The aperture ~specifications load
model MR e BE RES [RAR R FLEE e LEFTRINE HE
(MM) (MM) (MM) (MM) (MM) (MM) (MM) (KG)

WX-701-D75-01
WX-701-B75-01
WX-702-D75-01
WX-702-B75-01

TPR | 3°(75) 54 100 70*58 | 55*43 8.5 12*25 75

TPR | 4 (100) 70 130 80*64 | 55*43 8.5 12*25 85

TPR | 5 (125) 85 162 90*74 | 66*52 8.5 16*30 100

O FEHR:BBEREHN O AMKRT HEBRE



Eff WA

Medical double table wheel

o

201 -BFENZE 201 -DFEAME 202 -BZ£AT R E 202 -D£MAME

=

O © ¢

= _sas

203 -BHEFFRIZE 203-DiEFF M 201 -BYERIZE 202 -D£FF H)
1| =2 0, ~0O| 50 o~
RS ® © el o Q
The material ~ wheeldia ~ Wheel width  lation height  Plate size Pitch The aperture specifications load
model R wE L REBE  RRRT B L& LT HE
(MM) (MMm) (MM) (MM) (MMm) (MM) (MM) (KG)

WX-201-D50-01
WX-201-B50-01
WX-202-D50-01 ‘ * * 10*15
weor-ssoor| PU 27(50) 45 68 42742 | 32732 5 12*20 23
WX-203-D50-01

WX-203-B50-01

*1
PU | 2.5(65) 45 80 42*42 | 32*32 5 igzg 50
pu |35 | 58 | 100 | 7058 | 54%42 | 85 %g%g 60

O s=ExR:metgn O At NESEE



EfF R DA
Medical double brake double disc wheel

401 -BFEERNE 401 -DFRAM 402 -BL£FRIE 402 -D£MAE
- 1
401 -BYERRAZFE 401 -DFKAE 402 -BZ£MRE 402 -DLAT AE

e © @ T © @& e Il B

The material wheeldia ~ Wheel width  lation height  Plate size Pitch The aperture specifications load
model Ll ®iE HBE REBE  RRRY FLEE Lz LLFTRINE HE
(MM) (MMm) (MM) (MM) (MMm) (MM) (MM) (KG)

WX-401-D75-01

WXAOLBISOL| - pyy 3475) 58 100 70*58 | 54*42 8.5 12*25 65

WX-402-D75-01
WX-402-B75-01

PU 4°100)| 58 130 90*75 | T70*55 8.5 12*25 80

PU 5 (125)| 65 155 95"62 | T75"45 8.5 16*30 90

O pzEmR:ERREn O AMLRIT FEERE



Goodich
e
-s?;;—’—
& |

501 -BF /R %=

4 P

501 -BEEHIZF

501 -BFEFZE

Bs ©

EjrEmae
Medical bread wheel

501 -DFEAM

——

G

501 -DFEAM

i‘;‘*

501 -D¥FEAME

® T 9

502 -BLAFHI|ZE

A

|

502 -BZ£ATHRIZE

502 -B£AFRIE

Q

502 -D&£fF M

L

502 -D&£FAM

=

The material wheel dia ~ Wheel width  lation height Plate size Pitch The aperture specifications load
model #1E £ REEE AR R L35 L& ARG HE
(MM) (MM) (MM) (MM) (MM) (MM) (MM) (KG)
WX-501-D50-01
WX-501-B50-01
wesornsoor | TPR | 27(50) | 24 90 70*58 | 54*42 | 85 | 12*25 | 50
WX-502-B50-01
TPR 3”(75) 24 116 70*58 54*42 8.5 12*25 75
TPR 4”(100) 32 143 95*62 54*42 8.5 12*25 85
TPR 57(125) 32 167 95*62 54*42 8.5 16*30 100

O FIZEXNR  FREETGEH

O AMAGIT  FIFEBRE




seling
Goodich

Guangdong Goodich Hardware Co.Ltd

Address: 9th Floor,No 3419,Shengxin Road,
Yuntong Building,JiaDing Area,
Shanghai,China,

Elli:0086-180 1621 6906




